H
S

o(® ¢ (rad)

=
S
N

Ratio

ooa, ) cm)

107}

10

1034

Rat|

0.95[f

09

g
5]
o
107
1072Fg
10k
[ 9 J..J-- [
| I |
1 o 1.05[ i
2 -1 0 1 2 3 R R R — 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM _fitted4 1000evt
£
2
;\N
L
©107R
1072 ;
A I IV IV IR B 1 A N AL I A
: . ] ] ] 9 1.UD| N [ [ [ [
i Bl T i
g ] 14 L] i b
f | 1 H i1 H
: " 1 1 y 0.95 : : : N
-2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline)

a0 p,/p,)

Ratio

0.95

1 0 1 2 3
TP n (PCA to beamline)

TP n (PCA to beamline)



	Contents
	Page 1


